
   

   

   

Question: 

What was Turing’s mother’s na-

me? 

 Maria Sara  Kate Sara  

By Valentine and Sarah  4B  

Question: At the beginning of 

the film, where did Alan Turing 

go by train? 

 To Oxford  to Edinburgh 

Question: Two policemen in-

terrrogated Turing. What were 

their names? 

 Nock and Stahl   Nack and                     

    Stahel  

Nock and Staehl 

Question: A. Turing built the 

first computer called ACE. What 

does ACE mean? 

 Automatic computing engine

Question:  

Who was Christopher Morcom? 

 Turing’s best friend at school. 

Turing’s colleague. 

Question: It took Turing two 

years to create the ACE compu-

ter. 

 Right ? 

Question: Alan Turing died in 

1954. 

 Right ? 

Wrong? 

Question: 

Was Alan Turing gay or 

straight ? 

Question: 

Alan’s colleague at Bletchley was 
called Hilton. What was his first na-
me? 

 John  Peter  

Hugh 
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Answer :  

Their names were Nock and 

Staehl 

Answer : 

He took the train to Bletchley 

Park — the secret cryptanalysis 

centre during WW2. 

Answer : Ethel Sara 

Answer : 

Right. He built the ACE from 

1945 to 1947. 

Answer : Christopher was Tu-

ring’s best friend at school. 

Answer : 

ACE means automatic computing 

engine 

Answer : 

His first name was Peter. 

Answer : 

He was gay. 

Answer : 

Right. He died in June 1954. 



   

   

   

Question: 

Turing tried to break a German 

machine code, what was the na-

me of that machine? 

 Bletchley  Fleissner  

By Jeremie, Théo B and Axel  L 4B  

Question: Was A. Turing… 

 a mathematician?  a phy-

    sician? 

 a spy? 

Question: Did Turing...  

 ...talk to Churchill?   

 ...write to Churchill? 

...call Churchill? 

Question: When Joan visited 

Turing at the end of the film, 

was it in 1951? 

 Yes 

Question:  

How did Turing die? 

 

Question: Did Alan Turing start 

working on his machine alone? 

 Yes 

No 

Question: What was the name 

of the girl in the film? 

 Mary 

Sophie 

Question: 

What did Alan Turing use to 

break the Enigma code? 

 The Fleissner chart 

cryptanalysis 

Question: 

When did the Germans declare war? 

 in 1939  in  1927  

In 1944 
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Answer : 

He wrote to Churchill.  
Answer : 

He was a mathematician. 

Answer :  

Turing broke the code of the 

Enigma machine. 

Answer : 

Yes, he did. 

Answer : 

He ate an apple with cyanide on 

it. 

Answer : 

Yes, the scene takes place in 

1951. 

Answer : 

They declared war in 1939. 

Answer : 

He used cryptanalysis. 

Answer : 

Her name was Joan. 



   

   

   

Question: 

Now Turing is considered as a 

great inventor and a hero. 

 Right?  Wrong? 

 

By Emeline and Lucile  4B  

Question: What was Turing’s 

second name? 

 

Question: Where did Turing 

work? 

 

Question: What did Alan Turing 

commit suicide with? 

 

Question:  

How many combinations were 

there in Enigma? 

 159 trillions 

(1,000,000x1,000,000) 

159 billions (1,000 x 1,000,000) 

Question: At the end of the 

film, who was the Soviet spy? 

 

 

Question: When was Turing 

born? 

 In June 1912 

In October 1912 

Question: 

Why is a bitten apple the logo of 

the Apple company? 

 

Question: 

Why was Turing’s machine called 
Christopher? 

 it was a tribute to his father. 

 it was a tribute to his brother.  
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Answer :  

He worked at Bletchley Park. 
Answer : 

His second name was Mathison. 

Answer :  

Right. His invention saved mil-

lions of people during the war. 

Answer : 

The Soviet spy was John Cairn-

cross. 

Answer : 

There were 159 trillion possible 

combinations in Enigma. 

Answer : 

He ate an apple with poison on 

it. 

Answer : 

Christopher was his lover’s na-

me. 

Answer : 

It’s a tribute to Alan Turing who 

died after eating a poisoned ap-

ple. 

Answer : 

He was born in June 1912. 



   

   

   

Question: 

What did Christopher Morcom 

die of? 

 

By Guilhem, Alizé and Abraham       4B  

Question: What did Turing in-

vent? 

 Dr Dre 

Hitler’s “Nein, Nein!” 

Question: How much did the 

Christopher machine cost? 

 £ 1,000,000 

£ 100,000 

 £ 10,000 

Question: Was Alan Turing bul-

lied at school? (bullied = harcelé) 

 Yes, he was. 

 No, he wasn’t. 

Question:  

At the end of the war, what did the 

team of crytanalysists do with all 

the secret papers? 

 They hid them. 

They put them away. 

Question: Did Turing’s team 

manage* to break the code? 

* réussir 

 

Question: What is the title of 

the film? 

 War Horse 

Alan Turing 

Question: 

Was Alan Turing in love with 

Joan Clarke? 

 Yes, he was. 

 No, he wasn’t. 

Question: 

What was the name of the German 
Code Machine?? 
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Answer :  

It cost 100,000 Pounds. 
Answer : 

He invented a machine. 

Answer :  

He died of bovine tuberculosis.. 

Answer : 

Yes, they did. 

Answer : 

They burnt them. 

Answer : 

Yes, he was. Just because he 

was different. 

Answer : 

It was called Enigma. 

Answer : 

Turing didn’t love Joan because 

he was gay. 

Answer : 

The title is « The Imitation Ga-

me » 



   

   

   

Question: 

Where was Turing’s father from? 

 from Hawaï 

From London 

 From Scotland. 

By Valentine and Sarah        4B  

Question: When did Turing in-

vent his first machine? 

 in 1930 

In 1936 

Question: Why was Alan Turing 

convicted and why did he stop  

teaching? 

 because he was very sick 

Because he was gay. 

Question: Why couldn’t Joan 

Clarke work with Turing’s team? 

 

Question:  

Was Turing nice to work with? 

 

 

Question: When Turing became 

the leader of the team, who did 

he fire immediately? 

 one colleague 

Question: Did Joan Clarke live 

at Bletchley Park? 

 

Question: 

Was Alan Turing famous in the 

20th century? 

 Yes, he was. 

 No, he wasn’t. 

Question: 

What subject did Turing teach at 
Cambridge university? 
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Answer :  

He stopped working because he 

was gay. 

Answer : 

He invented it in 1936. 

Answer :  

He was Scottish. 

Answer : 

He fired Furmanns and Richards. 

Answer : 

No, he was arrogant so no one 

liked him at first. 

Answer : 

She couldn’t work with Turing’s 

team because she was a woman 

and her parents didn’t want her 

to work with men! 

Answer : 

He taught Maths. 

Answer : 

No, he wasn’t. His work stayed 

secret for many years. 

Answer : 

Yes, she did. 



   

   

   

Question: 

When did the film story take pla-

ce? 

during World War I 

 during World War II 

By Naomie and Noémie       4B  

Question: What was the name 

of one of Turing’s colleagues? 

 Hugh Alexander 

Menzies 

Question: How old was Alan 

Turing when he died? 

 He was 51 years old 

He was 41 years old. 

 He was 32 years old. 

Question: What country was 

Britain’s enemy? 

 Spain 

 Germany 

Question:  

Who was a spy in Turing’s team? 

 John 

 Peter 

Question: Many German at-

tacks were avoided because of 

Turing. 

 Right? 

Question: How long did Turing 

suffer before he died? 

 two years 

 five years 

Question: 

What was the German machine 

called? 

 

Question: 

When was Turing convicted for inde-
cency? 

 in the 1950s 

 in the 1960s 
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Answer :  

He was only 41 years old when 

he died. 

Answer : 

It was Hugh Alexander. 

Answer :  

It was during WWII. 

Answer : 

Yes, the British army knew the 

Germans’ plans and could get 

ready. 

Answer : 

John was a Soviet spy. 

Answer : 

Germany was Britain’s enemy. 

Answer : 

He was convicted in1950. 

Answer : 

It was called ENIGMA. 

Answer : 

He suffered two years. 



   

   

   

Question: 

How many brothers did Alan Tu-

ring have? 

two 

 five 

By Valentine and Sarah       4B  

Question: What were the two 

words that helped Turing deci-

pher the German code? 

  Heil Hitler 

Question: Who funded* Turing’s 

machine? 

* a financé 

 

Question: What was Turing in-

terested in? 

 gravity 

 artificial intelligence 

Question:  

Was Turing married? 

 No, he wasn’t. 

 Yes, he was. 

Question: Where did Turing’s 

parents live, when he was a 

child. 

 in India 

 in Portugal 

Question: What was Enigma 

used for, by the Germans? 

 to decode messages 

 to encode messages 

Question: 

Who intercepted the German 

messages at Bletchley Park? 

 a team of men 

 a team of women 

Question: 

What test did he put in the newspa-
per to find new colleagues? 

 a math problem 

 an enigma 

 a difficult crossword 

             

 



Answer :  

Winston Churchill funded the 

machine. 

Answer : 

The two words were « Heil Hi-

tler ». 

Answer :  

He had one. 

Answer : 

His parents lived in India. 

Answer : 

No, he wasn’t. 

Answer : 

He was interested in artificial 

intelligence. 

Answer : 

He put a difficult crossword in 

the newspaper. 

Answer : 

A team of women intercepted all 

the German messages and gave 

them to Turing’s team. 

Answer : 

The Germans used Enigma to 

encode their messages. 


